b 300mm d=650mm

A =6D25=6*5.067cm’

f/=35N/mm? f, = 295N / mm?

B, =080k, =0.4,k,=0.85 Bk, =068 k,/pk =1/17

p=1.56% p = 5.68%

p= A/bd =3040/300-650=0.01559

gl,=0.0035 f/<50N/mm?

&, = (295N / mm?) /(200kN / mm?) = 0.001475
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P, = BiKs— e
e, +e, f,

00035 35
0.0035+ 0.001475 295
0.68-0.7035-0.1186 = 0.05676 (5.68%)

p(= 0.01559) < p, (= 0.05676)

M, =539kN - mm

bd* =300 650° =126.8 x 10° mm® pf, = 0.01559-295=4.599N / mm?

f
M, =bd? - pf, (1- )

1.7f

C

2
127x10° mm® - 4.60N / o (1— . . 40N/ mim
1.7 35N/mm

bd?*f, =300-650° -35=4436x10°N -mm = 4436kN -m




pf, 0.0156-295

=—— =0.131
@ 3 35 (¢
M o 0.13
2 U —pl-—-) = 0.131(1-——")= 0.121
bd?f’ v 1.7) U 1.7

C

M, =bd*f, x0.121= 4436kN - mx0.121=536kN - m



